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You should have the following for this examination:
Answer booklet;
Dimension Papers;
Scientific calculatar;
A copy of Standard Method of Measurement of Building works and Asseciated Civil works
Jor Eastern Africa (SMM).
A eopy of Civil Engineering Standard Method of Measurement (CESMM).
Thiz paper consists of SIX gquestions in TWO sections: A and B.
Annwer FOUR questions choosing TWO gquestions from each section in the answer booklet provided
or dimension papers as necessary.
Meaximum marks for each question are as indicated.
Cuestions in section A carry 30 marks each while those in section B carry 20 marks each.
Candidates should answer the questions in English.

This paper consists of 5 printed pages.

Candidates should check the question paper to ascertain that all
the pages are printed as indicated and that no questions arc missing.
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SECTION A: MEASUREMENT OF BUILDING AND CIVIL ENGINEERING WORK

E

Ansvwer TWO questions from this section.

Take off all quantities of the substructure works in drawing Ne. 01 upto and including dpc

(use SMM), {30 marks)
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2 Talkie off all quuntities Tor external works shown on dmwing No. 02 (use CESMM).

(30 marks)
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Define each of the following terms as used in measurement:
(i} provisional sum;

(i) spotitems;

{iii)  penultimate certificate;

(iv) variations.

{8 marks)
Explain four types of contract documents. (8 marks)
Descnbe the traditional method of prepanng bills of quantities. (8 marks)
Describe each of the following tendering methods stating two advantages of each: Y,
(i)  selective;
(i) - serial. (6 marks)

SECTION B: ESTIMATING AND COSTING 1
Answer THO gquestions from this section
Explain cach of the following terms used in estimating and costing:
"‘\I

(i) umit rate; =

(i)  man-hour; ..'ll!l )
= gor |l
(iii) all in mechanical rate; = g

{iv) overheads. S (8 marks)
Highlight foar sources of cost information. {4 marks)

Explain four factors considered when choosing a method of approximate estimating
to be used. {8 marks)
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Drescribe each of the following methods of approximate estimating stating two
dements of each:

{1} superficial method;
(ii)  approximate quantities metheod. (10 marks)

Determine the cost of an office floor whose external dimensions are 36 1 24 m with
five floors comprizing of one basement with a height of 4 metres und four other

floors of storey height 3 metres. Given that the storey enclosure cost per m? is

kosh 32,000 and the thickness of the basement wall is 250 mm while that for upper
floors 15 200 mm. {10 marks)
Highlight three roles of the quantity surveyor at cach of the following stages:

{1} pre-contract;

{11)  construction;

{iii}  postconstruction. (% marks)
Explain four categories of wastage in materials. {8 marks)
Differentiate nel pricing from gross pricing. (3 marks)
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